# ON C-PROJECTIVE 8 AND 10 STEMS 

Hideaki ŌSHIMA*)

(Received August 22, 1979)

In [9] the author computed the stable $C$-projective homotopy of spheres through the 13 -stem but left the 8 -stem $\pi_{2 n+7}^{S C}\left(S^{2 n-1}\right)$ for $n \equiv 0,6 \bmod (8)$ and the 10 -stem $\pi_{2 n+9}^{S C}\left(S^{2 n-1}\right)$ for $n \equiv 2 \bmod (3)$ unsolved. The purpose of this note is to determine these stems. These stems are also dealt with by Snow [11] and Gilbert and Zvengrwoski [3] which is a part of a master's thesis by Gilbert [7]. Our method is rather more elementary than the methods of [3] and [11] in the sense that their main tools are the spectral sequences but we do not use any spectral sequences.

Our results are the followings.

## Theorem.

$$
\begin{align*}
& \pi_{2 n+7}^{S C}\left(S^{2 n-1}\right)= \begin{cases}G_{8} & \text { if } n \equiv 6 \bmod (8) \\
Z_{2}\{\eta \sigma\} & \text { if } n \equiv 0 \bmod (8),\end{cases}  \tag{I}\\
& \pi_{2 n+9}^{S C}\left(S^{2 n-1}\right)= \begin{cases}Z_{2}\{\eta \mu\} & \text { if } n \equiv 5 \bmod (6) \\
0 & \text { if } n \equiv 2 \bmod (6) .\end{cases} \tag{II}
\end{align*}
$$

We use the notations in [8], [9] and [12] freely.
By Atiyah's $S$-duality theorem we have

## Lemma 1.

$$
\pi_{2 n+2 l-1}^{S C}\left(S^{2 n-k}\right)=\operatorname{Ker}\left[i_{l^{*}}: \pi_{2 m+2 l+k-1}^{s}\left(S^{2 m}\right) \rightarrow \pi_{2 m+2 l+k-1}^{s}\left(P_{m+l+1, l+1}\right)\right]
$$

where $m=j M_{l+1}(C)-n-l-1$ for large $j$, and $k=0$ or 1 . In particular,

$$
\pi_{2 n+7}^{S C}\left(S^{2 n-1}\right)=\operatorname{Ker}\left[i_{4^{*}}: \pi_{2 m+8}^{s}\left(S^{2 m}\right) \rightarrow \pi_{2 m+8}^{s}\left(P_{m+5,5}\right)\right], m=j M_{5}(C)-n-5
$$

and

$$
\pi_{2 n+9}^{S C}\left(S^{2 n-1}\right)=\operatorname{Ker}\left[i_{5^{*}}: \pi_{2 m+10}^{s}\left(S^{2 m}\right) \rightarrow \pi_{2 m+10}^{s}\left(P_{m+6,6}\right)\right], m=j M_{6}(C)-n-6
$$

for large $j$.

[^0]Proof.

$$
\begin{aligned}
& \pi_{2 n+2 l-1}^{S C}\left(S^{2 n-k}\right) \\
& \quad=\operatorname{Im}\left[\left(E p_{n+l, l}\right)^{*}: \pi_{s}^{2 n-k+1}\left(E P_{n+l, l}\right) \rightarrow \pi_{s}^{2 n-k+1}\left(S^{2(n+l)}\right)\right] \\
& \quad=\operatorname{Ker}\left[q_{l^{*}}: \pi_{s}^{2 n-k+1}\left(S^{2(n+l)}\right) \rightarrow \pi_{s}^{2 n-k+1}\left(P_{n+l+1, l+1}\right)\right] \\
& \quad=\operatorname{Ker}\left[i_{l^{*}}: \pi_{2 m+2 l+k-1}^{s}\left(S^{2 m}\right) \rightarrow \pi_{2 m+2 l+k-1}^{s}\left(P_{m+l+1, l+1}\right)\right]
\end{aligned}
$$

for large $j$ and $m=j M_{l+1}(C)-n-l-1$. Here the first equality follows from (1.3) of [9], the second one from the stable cohomotopy exact sequence associated with the cofibration $S^{2(n+l)-1} \xrightarrow{p_{n+l, l}} P_{n+l, l} \xrightarrow{i_{1}} P_{n+l+1, l+1}$, and the last one does from Atiyah's $S$-duality theorem [1] (or see (4.4) and (4.5) of [8]).

This lemma says that for our purpose it is enough to calculate some stable homotopy groups of the stunted complex projective spaces. Those we need are easily computed by the methods of [10], but they have been done in [2], [4], [5] and [6] so that we do not give proofs of (i), (ii), $\cdots$, (xiii) except (iv) below.

We explain some notations used below. We denote an element of $\pi_{2 m+i}^{s}\left(P_{m+l, l}\right)$ by $[\alpha]_{l}$ which is mapped to $\alpha \in G_{i-2 l+2}$ by $q_{l-1^{*}}: \pi_{2 m+i}^{s}\left(P_{m+l, l}\right) \rightarrow$ $\pi_{2 m+i}^{s}\left(S^{2(m+l-1)}\right)=G_{i-2 l+2}$. For a prime number $p,{ }^{p} \pi_{i}^{s}()$ denotes the $p$-primary component of $\pi_{i}^{s}()$.

## Lemma 2. For $m$ odd we have

(i) $\pi_{2 m+5}^{s}\left(P_{m+2,2}\right)=Z_{8}\left\{[\nu]_{2}\right\} \oplus Z_{3}\left\{\left[\alpha_{1}\right]_{2}\right\}$,
(ii) $\pi_{2 m+8}^{s}\left(P_{m+2,2}\right)=Z_{4}\left\{[\nu]_{2} \nu\right\}$,
(iii) $i_{1^{*}} \bar{\nu}=i_{1} * \varepsilon=2[\nu]_{2} \nu$,
(iv) $\quad \pi_{2 m+8}^{s}\left(P_{m+5,5}\right)=Z\left\{\left[Q^{s}\{m+5,5\} \iota\right]_{5}\right\} \oplus \begin{cases}Z_{4}\left\{i_{3^{*}}[\nu]_{2} \nu\right\} & \text { if } m \equiv 3 \bmod (8) \\ Z_{2}\left\{i_{3^{*}}[\nu]_{2} \nu\right\} & \text { if } m \equiv 7 \bmod (8) \\ 0 & \text { if } m \equiv 1 \bmod (4) .\end{cases}$

Proof of (iv). Put

$$
e_{m}= \begin{cases}1 & \text { if } m \equiv 1 \bmod (4) \\ 2 & \text { if } m \equiv 3 \bmod (4) .\end{cases}
$$

Then we have
(v) ${ }^{2} \pi_{2 m+7}^{s}\left(P_{m+, 33}\right)=Z_{16}\left\{i_{2^{*} \sigma}\right\} \oplus Z_{8 / e_{m}}\left\{\left[e_{m} \nu\right]_{3}\right\}$,
(vi) ${ }^{2} \pi_{2 m+7}^{s}\left(P_{m+4,4}\right)=Z_{16}\left\{i_{3^{*} \sigma}\right\} \oplus Z_{4 / e_{m}}\left\{i_{1} *\left[e_{m} \nu\right]_{3}\right\}$,
(vii) $\quad\left[e_{m} \nu\right]_{3} \eta=\left((m+3) e_{m} / 2\right) i_{1} *[\nu]_{2} \nu$,
(viii) $\pi_{2 m+8}^{s}\left(P_{m+4,4}\right)= \begin{cases}Z_{4}\left\{i_{2^{*}}[\nu]_{2} \nu\right\} & \text { if } m \equiv 3 \bmod (8) \\ Z_{2}\left\{i_{2^{*}}[\nu]_{2} \nu\right\} & \text { if } m \equiv 7 \bmod (8) \\ 0 & \text { if } m \equiv 1 \bmod (4) .\end{cases}$

By $\left(T_{4}\right)$ and $(T)_{4}^{\prime}$ of [10] we can choose an element $p^{\prime} \in \pi_{2 m+7}^{s}\left(P_{m+3,3}\right)$ with
$i_{1^{*}} p^{\prime}=p_{m+4,4}$ and $q_{2^{*}} p^{\prime}=((m+5) / 2)\left(\nu+\alpha_{1}\right)$. We can put $p^{\prime}=a_{m} i_{2^{*} \sigma}+b_{m}\left[e_{m} \nu\right]_{3}+$ odd torsions for some integers $a_{m}$ and $b_{m}$. Then

$$
\begin{equation*}
p_{m+4,4}=a_{m} i_{3^{*}} \sigma+b_{m} i_{1} *\left[e_{m} \nu\right]_{3}+\text { odd torsions } \tag{1}
\end{equation*}
$$

and

$$
\begin{aligned}
((m+5) / 2) \nu+\text { odd torsions } & =q_{2^{*}} p^{\prime} \\
& =b_{m} e_{m} \nu+\text { odd torsions }
\end{aligned}
$$

so that

$$
\begin{equation*}
b_{m} e_{m} \equiv(m+5) / 2 \bmod (8) . \tag{2}
\end{equation*}
$$

Consider the exact sequence $\left(S_{5}\right)$ of [10]:

$$
\cdots \rightarrow G_{1}=Z_{2}\{\eta\} \xrightarrow{P_{m+4,4^{*}}} \pi_{2 m+8}^{s}\left(P_{m+4,4}\right) \xrightarrow{i_{1^{*}}} \pi_{2 m+8}^{s}\left(P_{m+5,5}\right) \xrightarrow{q_{4^{*}}} G_{0}=Z\{\iota\} \rightarrow \cdots .
$$

We have

$$
\begin{aligned}
p_{m+4,4^{*}}(\eta) & =a_{m} i_{3^{*}} \sigma \eta+b_{m} i_{1^{*}}\left[e_{m} \nu\right]_{3} \eta, \quad \text { by (1) } \\
& =a_{m} i_{3^{*}}(\bar{\nu}+\varepsilon)+b_{m} i_{1} *\left[e_{m} \nu\right]_{3} \eta \\
& =b_{m} i_{1} *\left[e_{m} \nu\right]_{3} \eta, \quad \text { by } \text { (iii) and (viii) } \\
& =b_{m}((m+3) / 2) e_{m} i_{2} *[\nu]_{2} \nu, \quad \text { by (vii) } \\
& =((m+3)(m+5) / 4) i_{2^{*}}[\nu]_{2} \nu, \quad \text { by (2) and (viii) } \\
& =0, \quad \text { by (viii). }
\end{aligned}
$$

Then we have a short exact sequence:

$$
0 \rightarrow \pi_{2 m+8}^{s}\left(P_{m+4,4}\right) \xrightarrow{i_{1^{*}}} \pi_{2 m+8}^{s}\left(P_{m+5,5}\right) \xrightarrow{q_{4^{*}}} Z\left\{Q^{s}\{m+5,5\} \iota\right\} \rightarrow 0,
$$

since $\# p_{m+4,4}=Q^{s}\{m+5,5\}$. Of course this splits. Thus the proof of (iv) is completed.

Now we prove (I). Since $i_{4^{*}}=i_{3_{3} * i_{1}}$, by (iii) and (iv) we have

$$
\begin{aligned}
& \operatorname{Ker}\left[i_{4^{*}}: \pi_{2 m+8}^{s}\left(S^{2 m}\right) \rightarrow\right. \\
& \left.\quad \pi_{2 m+8}^{s}\left(P_{m+5,5}\right)\right] \\
& \quad= \begin{cases}G_{8} & \text { if } m \equiv 1 \bmod (4) \text { or } 7 \bmod (8) \\
Z_{2}\{\bar{\nu}+\varepsilon\} & \text { if } m \equiv 3 \bmod (8) .\end{cases}
\end{aligned}
$$

Then (I) follows from (iii) of (2.8) of [9], since $M_{5}(C)=2^{6} \cdot 3^{2} \cdot 5 \equiv 0 \bmod (8)$, $m \equiv-n-5 \bmod (8)$, and $\eta \sigma=\bar{\nu}+\varepsilon$.

For (II) we only consider the 3-primary component by (2.11) of [9].

## Lemma 3.

(ix) $\quad{ }^{3} \pi_{2 m+7}^{s}\left(P_{m+3,3}\right)= \begin{cases}Z_{9}\left\{\left[\alpha_{1}\right]_{3}\right\} & \text { if } m \neq 0 \bmod (3) \\ Z_{3}\left\{i_{2}+\alpha_{2}\right\} \oplus Z_{3}\left\{\left[\alpha_{1}\right]_{3}\right\} & \text { if } m \equiv 0 \bmod (3),\end{cases}$
(x) ${ }^{3} \pi_{2 m+7}^{s}\left(P_{m+4,4}\right)= \begin{cases}Z_{9}\left\{i_{1} \leftarrow\left[\alpha_{1}\right]_{3}\right\} & \text { if } m \neq 0 \bmod (3) \\ Z_{3}\left\{i_{3^{*}} \alpha_{2}\right\} \oplus Z_{3}\left\{i_{1} \leftarrow\left[\alpha_{1}\right]_{3}\right\} & \text { if } m \equiv 0 \bmod (3),\end{cases}$
(xi) ${ }^{3} \pi_{2 m+10}^{s}\left(P_{m+3,3}\right)=Z_{3}\left\{i_{2}{ }^{*} \beta_{1}\right\}$
(xii) $\quad\left[\alpha_{1}\right]_{3} \alpha_{1}= \begin{cases}-((m+3) / 2) i_{2_{2}} \beta_{1} & \text { if } m \equiv 1 \bmod (2) \\ -(m / 2) i_{i_{2}} \beta_{1} & \text { if } m \equiv 0 \bmod (2),\end{cases}$
(xiii) ${ }^{3} \pi_{2 m+10}^{5}\left(P_{m+4,4}\right)=Z_{3}\left\{i_{3} * \beta_{1}\right\}$.

Note that $p_{m+4,4}$ is an element of $\pi_{2 m+7}^{s}\left(P_{m+4,4}\right)$. If $m \equiv 0 \bmod (3)$, then $\left[\alpha_{1}\right]_{3} \alpha_{1}=0$ by (xii) so that by ( x )

$$
p_{m+4,4^{*}}\left(\alpha_{1}\right)=0 \quad \text { if } m \equiv 0 \bmod (3)
$$

since $\alpha_{2} \alpha_{1}=0$.
As seen in [10]

$$
\# p_{m+4,4}=Q^{s}\{m+5,5\}=C\left\{j M_{5}(C)-m-5,5\right\} \quad \text { for a large } j,
$$

so that by (3.1) of [8] we have

## Lemma 4.

| $\nu_{3}\left(\# p_{m+4,4}\right)$ | $m \bmod (\quad)$ |
| :---: | :---: |
| 2 | $2(3)$ |
| 1 | $0(3), 1,7(9)$ |
| 0 | $4(9)$ | .

If $m \equiv 2 \bmod (3)$, then we may put $p_{m+4,4}=y i_{1^{*}}\left[\alpha_{1}\right]_{3}+$ other terms for some integer $y$ with $y \neq 0 \bmod (3)$ by ( x ) and Lemma 4, and hence

$$
\begin{equation*}
p_{m+4,4^{*}}\left(\alpha_{1}\right) \neq 0 \quad \text { if } m \equiv 2 \bmod (3) \tag{4}
\end{equation*}
$$

by (xii) and (xiii). If $m \equiv 1 \bmod (3)$, then (x) and Lemma 4 say that $p_{m+4,4}$ is divisible by 3 so that

$$
\begin{equation*}
p_{m+4,4^{*}}\left(\alpha_{1}\right)=0 \quad \text { if } m \equiv 1 \bmod (3) . \tag{5}
\end{equation*}
$$

Now we prove (II). Consider the 3-primary part of the exact sequence $(S)_{6}$ of [10]:

$$
\cdots \rightarrow 0={ }^{3} \pi_{2 m+10}^{s}\left(S^{2 m+9}\right) \rightarrow{ }^{3} \pi_{2 m+10}^{s}\left(P_{m+5,5}\right) \xrightarrow{i_{1^{*}}}{ }^{3} \pi_{2 m+10}^{s}\left(P_{m+6,6}\right) \rightarrow \cdots
$$

and of $(S)_{5}$ :

$$
\begin{aligned}
\cdots \rightarrow & { }^{3} \pi_{2 m+10}^{s}\left(S^{2 m+7}\right)=Z_{3}\left\{\alpha_{1}\right\} \xrightarrow{P_{m+4,4^{*}}{ }^{3} \pi_{2 m+10}^{s}\left(P_{m+4,4}\right)=Z_{3}\left\{i_{3^{*} *} \beta_{1}\right\}} \\
& \xrightarrow{i_{1^{*}}}{ }^{3} \pi_{2 m+10}^{s}\left(P_{m+5,5}\right) \rightarrow{ }^{3} \pi_{2 m+10}^{s}\left(S^{2 m+8}\right)=0 \rightarrow \cdots
\end{aligned}
$$

The first sequence implies

$$
\begin{aligned}
& \operatorname{Ker}\left[i_{5^{*}}:{ }^{3} \pi_{2 m+10}^{s}\left(S^{2 m}\right) \rightarrow{ }^{3} \pi_{2 m+10}^{s}\left(P_{m+6,6}\right)\right] \\
& \quad=\operatorname{Ker}\left[i_{4^{*}}:{ }^{3} \pi_{2 m+10}^{s}\left(S^{2 m}\right) \rightarrow{ }^{3} \pi_{2 m+10}^{s}\left(P_{m+5,5}\right)\right]
\end{aligned}
$$

and the second one, (xiii), (3), (4) and (5) imply that this group is

$$
\begin{cases}Z_{3}\left\{\beta_{1}\right\} & \text { if } m \equiv 2 \bmod (3) \\ 0 & \text { if } m \equiv 2 \bmod (3)\end{cases}
$$

Then (II) follows from (v) and (vi) of (2.11) of [9], since $M_{6}(C)=M_{5}(C) \equiv$ $0 \bmod (3)$ and $m \equiv-n \bmod (3)$.

## References

[1] M.F. Atiyah: Thom complexes, Proc. London Math. Soc. 11 (1961), 291-310.
[2] Y. Furukawa: Homotopy groups of complex Stiefel manifold $W_{n, 4}$, preprint.
[3] S. Gilbert and P. Zvengrowski: $S^{1}$-invariant homotopy of spheres, Osaka J. Math. 17 (1980), 589-604.
[4] Y. Nomura and Y. Furukawa: Some homotopy groups of complex Stiefel manifolds $W_{n, 2}$ and $W_{n, 3}$, Sci. Rep. Coll. Gen. Ed. Osaka Univ. 25 (1976), 1-17.
[5] K. Oguchi: Stable homotopy groups of some complexes, mimeographed note.
[6] -: Meta-stable homotopy of some complex Stiefel manifolds, mimeographed note.
[7] S. Oldford: G-invariant homotopy theory, Thesis, Univ. of Calgary 1978.
[8] H. Öshima: On stable James numbers of stunted complex or quaternionic projective spaces, Osaka J. Math. 16 (1979), 479-504.
[9] -: On F-projective stable stems, ibid. 16 (1979), 505-528.
[10] -: On the homotopy group $\pi_{2 n+9}(U(n))$ for $n \geqq 6$, Osaka J. Math. 17 (1980), 495-511.
[11] R.E. Snow: The complex projectivity of coextensions, Thesis, Univ. of Washington.
[12] H. Toda: Composition methods in homotopy groups of spheres, Ann. Math. Stud. 49, Princeton 1962.


[^0]:    *) Supported by Grant-in-Aid for Scientific Research, No. 454017

